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STATISTICS

Paper : STAO300104

( Survey Sampling and Design of
Experiments-1)

Full Marks : 45
Time : 2 hours

The figures in the mdrgin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following as directed : 1x5=5

. Feiire e e emTres Set il 3

(@) If all the units of a population are
surveyed, it is called

(Fill in thé blank)
% 51 A TS (oI5 Tt o1 =W,
o T 73 |
(3T A2 97 )
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(b). .When' the population is , We
. use a stratified sample. .
"(Choose the correct option)
- fea ARG 2, S ol BYS
oo TR T | (97 (wr?ma?razﬁ@‘/?mr)
~ (i) too small (IT© %) .
(i) very‘ large (I2© TleT)
(iii) homogeneous (TANER) -
(iv) heterogéneous (N?ITUW)

(c) When sample size 1ncreases samphng
errors also increase.
(State -True or False)

mﬁmaﬁwﬁwqﬁ%mmmml
(5% & 3% z%?f/)

(d) A test that is-based on _ - .is
provided by analysis of variance.
(Choose the correct option)

ﬁﬂﬁqmcfm __ 9 e wiKRe
AT e I (@5@@?@7@%@@

@) probab1hty Ratio
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(i) ~variance ratio
TR SRATS -

(iii) random sample
Mfoess efermf

(iv) expetimental unit

TS T

(e) The error d.f. in an RBD w1th 4 blocks
~ comparing 6 treatments is
(Fill in the blank)

| mareemt‘s'vnmwmﬁwﬁwm
Wﬂﬁ@%ﬂwﬁ
S (ena??éﬁwﬁw'

2. ‘Answer any'fivé questions from the
following:: - 2x5=10

wote ﬁmmrﬂ?w?r mwm

(a). Point out the drawbacks of complete
enumeratlon

W‘fﬁWWWWI

(b) Distinguish between observational
studies and sample surveys

WWWWWWWW,
- Aty Tt
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(c) Define non-probability sampling.
SrTeiiel dferame ke i |

(d) Under what situation will you prefer
RBD over CRD ?

(PELEER SRR =9 e SifsTsmrers

itz Ao eweoT seifam fm zme
(e) What 1s systematic sampling ?
geffeTiam eifonae 2
(f) Write down the uses of analysis of
variance.

el Rearge s o

(g9 What are the disadvantages of stratified
random sampling ?

e e s R B f.

(h) Define proportional allocation in
stratified random sampling with
example.

| BRE AT eAfSoama Teifes Mo
TIRTR ke forai |

(i) What do you mean by treatment and
experimental -error in ‘design of
experiment ?
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-WW@‘WWW@%W ;

; §f§l g . -
G) Explaln the concept of simple random "
: sampling.

WWWW@WWl

3." Answer any four questlons from the
following : 5x4=20

Wﬁmw ﬁm‘mbﬁﬂa Wﬁ?ﬂ

) (a) Discuss the basic. pr1nc1p1es of sample :
survey.

oot e WWWWI ,

(b) What is systematic sampling ? Mention
__few advantgages of systematic sampling
_over s1mple random sampling. o
3+2=5

: .WW%?WWWW
L RS eferaeR Rega AR S w4

(c) A population of size 720 was divided
into 3 strata whose sizes were 360, 240
and 120 respectively. A' sample of size

60 is taken from this population using
proportional allocation. Find the sizes -
of the samples selected from each .
stratum.
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@Bl 720 wFIRg W R ¥ @ 360,
240 SIF 120 ST 5} 71 T | SR ITNBBR -
sfat FTieifes faen =T FR 9Bl 60 SFRE
Wmﬁlmwwmw

| SIPTR T |

(d) Show that in simple random samphng

sample mean is an unbiased estimate’

. of 'the populatlon mean. ,
Sl 3 (T I Qo eiferam el SIWKBT

e T O SRS ST -

(e) What is meant by AOV ? What are the
_ assumptions ‘made in it? :
- o Revds ol 2 21 e wfte
SfeuReIrTE & &2 ‘

() Write a note on basic principles of
design of experiment. -
- S SoTERE (TR ﬁ‘r%ﬂ‘{ﬁ R «ﬂﬁ
. Coret T |

(99 What is completely randomised design
(CRD)? Write down the hypothesm .
) tested and AOV table in CRD. B
e amfies AT 6 2 el Ao AT
VETW&W%@IWW‘TW‘T
SifeRpie 2E© ?NTI ‘
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(h) Show- that in simple random samphng -
. with replacement the standard error of
_estimate of sample mean is

_SE. (3?)'%—\77 |
ToHfegIoR T T AfopHe (RS 2
= m.ﬁﬂm«'wmm_ﬁ

S.E.(%)= %

4. Answer any one questlon from the
' follong o : 10

(a) Explam the principal steps involved in
the planning and execution of a sample
survey.

ot affemf ﬁw AR aﬂa‘ﬁm«
oIS G R SAMTEORE RN S
(b) What are sazhpling and nbn‘—sar.hpling
errors ? Discuss briefly.
aferTm w1 wefne whaER B B o0
- ST P , '
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(c) Describe the procedure of stratified
random sampling. Obtain the variance
of the estimate of the population mean.

3+7=10

TS 023 2fSHTT AROH! T B | TG
T O PR TRl )

(d) (i) Whatis randomised block design ?

State its advantages. 5
e Ao SfeTse| 67 2R R
T 4|
(ii) Fill in the blanks of the followmg
table : 5
| weTe Tl FRATS QT SRR #7418
Source  d.f. Sum of Squares ~ Mean Square - F
T T P QI 7% P
A6 = = ., A
B 10 - 1095 -
Brior  — 10160 -
&
T(;{tzal 60 1895
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